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1. REERO
(1) BN
BEARMEERL 1,200 1,200 0
BEARESEAR 1,200 1,200 0| BAEEESHE
ZMSHE 5,077,000| 5,040,000 37,000
TH RS 5,077,000/ 5,040,000 37,000
BN 150,000 167,000 A 17,000
REZIEBRING 70,000 87,000 A 17,000|tiERsME
LR 80,000 80,000 0| &%k, HELER
ZHHEN S 7,367,400| 6,907,000 460,400
SHERENRE 6,487,400 6,277,000 210,400
STHUSEHE S 880,000 630,000 250,000
ZH&ES 270,000 261,000 9,000
BE-ZIaTHaEd 270,000 261,000 9,000|B & - itshas
M 704,200 604,200 100,000
THFIER 1,200 1,200 o|FEEFR
MEUNZS 703,000 603,000 100,000 | & EEHRES b
(#ZEUNERET] (A) 13,569,800| 12,980,400 589,400
(2) REEH
BEH 10,641,046 9,907,660 733,386
(DNEFXEMEE) (3,079,000)| (3,085,000)] (A 6,000)
THEARREE 195,000 208,000 A 13,000|HFHEFEHES
Eay 10,000 10,000 0
BEERE 19,000 28,000 A 9,000
ENRIEAES 30,000 30,000 0
Bt s 102,000 102,000 0
Eay | 34,000 38,000 A 4,000
ERsEEE 466,000 463,000 3,000 |FEFHE. HEI(ZX b
Eay 34,000 34,000 0
BEERE 27,000 27,000 0
oI bi=kry 89,000 85,000 4,000
HERE 282,000 282,000 0
ENRIEAE 32,000 32,000 0
S8 2,000 3,000 A 1,000
BitRESEE 69,000 27,000 42,000 | HIMEELRF
=& 9,000 9,000 0
i &iEs 60,000 18,000 42,000| £EASSNE
HOLREE 292,000 300,000 A 8,000|2HHITHE. ROBFES
Eay= 10,000 10,000 0
BEEMRE 82,000 80,000 2,000
ENRIEAES 190,000 190,000 0
SHIEERE 10,000 20,000 A 10,000
HeEEE 210,000 215,000 A 5,000|HtE&E0NEEE
HERE 130,000 115,000 15,000
SoEIN=ki=kry 80,000 100,000 A 20,000
BERIESEE 1,847,000| 1,872,000 A 25,000|E%EE. —HEWHE. BHER
Eay 24,000 24,000 0| -FEEpszEd ERIZSRES
ENRI R AES 73,000 73,000 0
BIEENRE 138,000 138,000 0
SHERE 30,000 75,000 A 45,000
BT s 836,000 836,000 0
2E 395,000 375,000 20,000
MEE 256,000 256,000 0
SoEIN=L =k 95,000 95,000 0
(UNZXEEZE) (740,000)| (600,000)| (140,000)
BHEESEE 80,000 95,000 A 15,000 |EFIE4HES
=R 15,000 10,000 5,000
TS HEEES 65,000 85,000 A 20,000
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SERIREE 577,000 414,000 163,000 | £EAS. $RIEEE
SBTRE 432,000 397,000 35,000
SAERRE 145,000 17,000 128,000
SEIgREE 83,000 91,000 A 8,000 |SE1EaHHE
=& 11,000 11,000 0
SEIERHEEE 72,000 80,000 A 8,000|&EtgmmikES
(BIBEDSSEXEERS) (6,822,046)| (6,222,660) (599,386)
NS IANAY=[EES (6,024,664)| (5,381,760) (642,904)
N RRIEEES (797,382) (840,900)| (A 43,518)
HBRIFS 4,069,450 3,807,300 262,150
BHELEE 673,750 628,260 45,490 | HHRER 1
BHEEn 115,500 111,000 4,500
REEE 447,370 219,780 227,590
BIEERE 421,190 422,540 A 1,350
SHERE 204,050 196,100 7,950| =FHFRRE
ENRI A E 57,750 62,160 A 4,410
AR B 207,900 186,480 21,420
&fEan 284,900 273,800 11,100|E%5Fr. 5igis
1R 218,680 210,160 8,520
)-8 60,060 57,720 2,340
XINFER 53,746 39,960 13,786| =5 ER b
B 7,700 7,400 300
EHE 2,913,754| 3,029,340( A 115,586
=i 715,000 682,000 33,000
BEs 101,000 101,000 0
Zih&iBE 10,000 10,000 0
HNEHRE 50,000 50,000 0
HBRFY 1,215,550/ 1,337,700 A 122,150
EBHELEE 201,250 220,740 A 19,490
BHEEN 34,500 39,000 A 4,500
RESEE 133,630 77,220 56,410
BIESEWRE 125,810 148,460 A 22,650
HERE 60,950 68,900 A 7,950
ENRI A E 17,250 21,840 A 4,590
Ay NE= 62,100 65,520 A 3,420
EER 85,100 96,200 A 11,100
R 65,320 73,840 A 8,520
- 2% 17,940 20,280 A 2,340
ZINFER 16,054 14,040 2,014
B 2,300 2,600 A 300
(FEE&ERET] (B) 13,554,800| 12,937,000 617,800
LHARREIEREE (A-B) 15,000 43,400 A 28,400
2. EEIMNEROBD
(1) BB 0 0 0
BEIMREST 0 0 0
(2) BENER 0 0 0
BENERE 0 0 0
(S HA— AR IERBA SRR 15,000 43,400 A 28,400
(— R IEDREAEEHA E 5 = ) 13,743,062| 12,013,478| 1,729,584
(—RRIEBREAEERAR 7% =) 13,758,062| 12,056,878] 1,701,184
1 15 TE 1E BREA ISR D EB
SERERE 6,487,400| 6,277,000 210,400
—RRIEBREAEADIRES A 6,487,400 A 6,277,000/ A 210,400
(IERBAEE AR TA S ) 13,758,062| 12,056,878| 1,701,184




